
Release spring (97158372)  -> 81-60-1993 akt-Stand

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 1 of 2



Release spring (97158372)  -> 81-60-1993 akt-Stand

Pos. Part-No. Material-No. Description Measurement DIN/ISO
Serial No.
begin

Serial No. end valid from valid until Remarks Qty.
U
i

1 00053100 11038247 Hexagon screw M8x25-8.8 A2G DIN 933 1 P

2 01377700 11032224 hexagon screw M8x200-8.8 N2 ISO 4014 2 P

3 01377470 92032705 spring 1 P

4 00733400 90103045 Spacer sleeve 1 P

5 00878400 90202698 Washer 1 P

6 00051510 12040051 Hex. Nut M8-8 A2G DIN 985 1 P

7 01377710 96160783 clamping sheet metal 1 P

8 00053350 12022059 Hex. Nut M8-8 A2G DIN 934 2 P

9 00855380 12326062 Washer 10,5-St A3G DIN 7349 1 P

10 00964200 11039385 Hex.bolt M10x150-8.8 A3G DIN 933 1 P

This print may include data out of date! For current spare part catalogue please visitwww.hako.com

Page 2 of 2


